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[he question paper compnsesof two Sections A and B 1ou are 10 attempt both the sechions

Al we aframd €

All questions are compu\wfyﬁ; V4
TR W=7 i Wrr-w & o e W e e e er
All questions of Sectien-A and aqu‘m,o { Section-B arv 1 be sttempted separatedy

\m—ﬂtmmlﬁatmw-u‘% S A o Te-TE TR S T RS W T T
Question numbers 1 to 3 in Section-A ar one Phark questons  These are 1o be answerad n
one word or in one sentence g

- WA Wem A7 & g - @ anwt o 1 L e 0w et 2 8

Question numbers 4 to 7 1 Sections- A a1 e

l...lvt‘..'b.j #’T:&l-l‘\ These arv 10 B answerad 0
about 30 words each. 4

WIT-3 % e WOA 6 A 19 % wen v Wi aded o F e T e 050 veagt 4 2

Question numbers 8 to 19 1n Section-A arv three mutp..smfn These arv W be answerad
\n about 50 words cach.

-3t & W T 20 D 24 % ye whw- utw ot & ¥ % 7w =i gt ¥ 2

Question numbers 20 0 24 in Section-A are five marks quesiumns T’hewm o be answerad
i about 70 words each. _

m—tim#ﬂaﬂuimmmtmﬁ!ﬁwﬁ R TE - W
w mﬂmmﬂiammwwﬂmmgﬂ;

9 " r -d
umbers Section-B 2re muiliple choxe quesbons based on pracix
. 'l‘l m“ﬁ":o‘?. :u‘k qwtmn You are to seédect one mOost appropoae response
skills. Each q
out of the four prowded to you.
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WIT-A / SECTION-A

! T Yfea i wfda = argrais 100 W - 250 V ) ¥0 T @ w1 v v 87

? 1
The power rating of an appliance is 100W - 250V. What d;ef l:f mrd“w: R Y.
~ T T
2 Sy et R wn awd €2 \ 2

FUAS, WAL PR
MO ?D .’g )

] 8 M w1 T ey frae T aredy st W N T W SEd & g ygm R ey o
‘ Write the name of the substance whose v, rs are used to run the turbine of the generator of
memthermalenergyplam?!.)Nﬁg | Mo v o . o

What is meant by tropic movements?

wdmtm:
Coy = A & yr A AFgEiE fem wm €
() @A |
(i) fofEa g
A Yy R wea fofad
What happens when
COxg) 1s bubbled through lime water

F.qu‘v"-t a~ \ F. “\ ‘\‘\E\ M, 8

(1) in small amount
(u) 1N eXCess.

Wrile your observations with reason

5 AW P@QH, PR Afirmm QA wn ¢ v wrgsll ) wfiram Avit o v wed wfteam % 5
§ wyafian A ¥ fag W fvarwems gune) &7 I *t Yfe e svqw vemtrs wion o
wifag)

Out of the two metals P and Q P is less reactive than Q. Suggest an activaty t0 arrange these
metals in the order of their decreasing reactivity. Support your answer with a suitabie
chemical equation. _

P\ Sl i
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= TN TN ¥ a9 tnd @ R § fag R et = g @ e sifag a2
T o v s ywe v

anadhgmmtnslwd!ungmﬁcﬁauhdﬂtﬁddpmdndbyamanying
arcular loop. Indicate the point where the field will be strongest.

wnméaﬁmﬁﬁwﬁﬂﬁmwmmmmﬂmwmm 2
¢ @ weR ¥ Y wm st S

ﬁumehcﬂabbwmmwhbulbdonm;bwwhhduMdm
bulb glows. Justfy this statement with reason.
_' 3
2 o gl B U 99 Wit wifag

(a) Ca(OHRr+Ch —
u'b,- Cﬂ)“kH:O-i-H:O—'

L L.
ic) NaLOy 10HO ——— .
Computudhhmﬂ!hlav-\gqm,
3) Ca(OHp+Ch —
ib) Cﬂ)‘ V)P"D*Hjo—'

/‘,“ NazCOy . 10 HiO —

—

y & ;
4 mmmamm ._

(3 MnO,+ HCl—» MnQ,+HO+Q,

) m’+A11(I)J,-olﬂ).+Aﬂ,

tﬁwr&tﬁww%mtu <% v 1 wowER e ¢ W wm sqee ¢ 3
P2

ﬁfvpus.stﬁmﬁwmwh

(a) s P& JgEfC

L agt 30f (&
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(b)  <iwie g ol T W 7w $Q sfnre & w87 <K ¥ am B w0 ¥ g o
=y i

A Compound P forms the enamel of teeth. It is the hardest substance of the body. It doesn't

dissolve in water but gets corroded when the pH is lowered below 5.5

(@) ldentify the compound P

(b)  How does it undergo damage due to eating chocolate and sweets 7 What should

we do to prevent tooth decay ?

frafefaa & sRu dfag

(a)  aifues It g Fe M & ¥ 9 wga 7€l it Wt |

(b))  Na L HE3H 3 ¥ gad ww 1

0 et gt WieE sra @ afvfsn ¥ H, T freed (Mg 90 Mo % sifafsan )

Account for the following :

(a)  Fe, the most widely uSed metal is never used in its pure state.

(b)  Na is kept immensed irl Kerosene oil.

(0 H, is not evolvedwhen a metal reacts with nitric acid (except Mg and Mn)

1 m o R wifie AR 1 9RR 20°C 3026 Q # 1 9 7R 1 @ 0.3 mm & W 5 aeeE W 38 R F
wered @y W HAC 1

Resistance of a metal wire of length 1 m is 26 §} at 20°C. If the diameter of the wire is 0.3 mm,
find the resistivity of the metal at this tefnperatire ?

A.C %t sTgfin it aftm R | s AC Y ST for e R ) g wRey i
3 g w0 ww W A frerl aw o aftalda woll @ 2

Define frequency of A.C. Mention the frequency andivoltags of AC in India. How many times
current changes direction in one second in our domestic supfily.

A <reTE WHH Y AU1-GHE T B 9 1 W A 2.0 mmdTT ERa o € smiE B e
@ % amm w Ot fwm aRfw wm 200 smm sk Tm
4.00 mm ¥ 3 AR 3R Wre T F WY w1 Sum T Wik )

Two conductors are made of the same material and have the same length. Conductor A is a
solid wire of diameter 20 mm. Conductor B is a hollow tube of inner and outer diameter 2 00
mm and 4.00 mm. Calculate the ratio of the resistance of solid wire to the hollow wire.

(a) TGS M FAR?
by et wRdl ¥ KRR S e W R w € A IRy v S R TR S §
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(1} Whatis peristaltic movement?
(t)  ‘Stomata ,remain closed in desert plants during daytime.” How do they do

~hotosynthesis 74,

16 ﬁfmmmmﬁmﬁﬁwﬁ?ﬁqmnﬂvﬁﬁmaﬁml 3
List in\[zw‘form three différenges between nervous control and chemical control.

17 Eﬁﬁxfﬁzﬁvaﬁﬁirﬂsﬁawwwél Wﬁwﬁﬁhaﬁéﬂm%m@ﬁﬁﬂﬁﬂﬁw 3
Y Forerd ot F T R G ST € )

(i) v T e TR W e w1 A farael

(ii) = g E i o Ied R,

(ii) wﬁfﬁwﬁm%mmaﬁfmmmﬁml .
A gland secretes a particular hormone. The déficiency of this hormone in the body causes a
particular disease in which the blood sugar level m@ses. ™,

® Name the gland and the hormone secreted by it

(it} Mention the role played by this hormone. .
(i) ~ Name the disease caused due to deficiency of thiis hotimone.

18 memmaa’m%mmmﬁﬁ@ms 3

List three distinguishing features between fossil fuels and solfir es@rgy.

@'_\ & NGO a%d @ 7iai g1 et A gl gt )« fag «ar ¥ g W FPmiv v Ry W@ 3
¥ wrafs qeeR w wen & fa ww A deen qi @ e witer med) W) Gga | T wE 9

() 39 NGO g wefifa yea fufay

(b) NGO 3 fova fer ¥ ¥ 21 forwe worggy, e swreon g {u % Frafer & Y W
o ¥

A:n NGO is opposing the construction of a dam on a river flowing through a number of
villages and forest for the ‘purpose’ of generating electricity while the Government was

insisting that it would bring a number of benefits for the villagers once the project gets
completed. ’

@ Describe the value exhibited by NGO.

1.

(b) Explain any two concerns of NGO due to which it is opposing construction of dam

tage 5 of 16
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wt.iﬂ thermit reaction ? Write a chemical equation for thermit reaction. State two categories
in which you can classify this reaction. For what this reaction is used and why ?

20

21 Al A v ot T W AR A R ) whved ool waTeh A¥ Ha sk BH S
CHyCOOH ! WHM |r=dl @t 97 Wi STt |

(i) wvmﬁﬁmmﬁaﬁm?ﬁawlwﬁﬁm

i) frdfw ef faw T fafaw) s R A R R v g ?
(i) 2 R & i e Ry sl daf FRE

(v) aRHAF AR, ﬁaamaﬁm,}moammzﬁmﬁm?

Two test tubes A and B a#€ faken and zinc granules are added to it. HCl is added to test A
and CH,;COOH to test tube/B.ift equal amounts and of same concentration.

(i)  Identify the test tube showing vigorous reaction. Give reason.
()  Name the gas liberated. Mow willjgou identify the liberated gas.
(@ Write the chemical equation fof r-facti_};xu in both cases and balance it.

(iv)  What will happen if instead of HE , HIN s added to = inc granules? -
: [ -

¥4

22 (a) fol = % frp s ) gl Afut f
b) RN IR Yeas HRA o oz i e o giftgptwan
© O 1m % ug & W H 9 20°C W posr® 1\l s s 045 B, q, @ sw
AIGHF R A YRR R SRR 4

(a) Define electric resistance of a conductor. :

(b) List tio Yactors on which resistance of a conductor depehds

@{ Resistance of a metal wire of length 1m is 104() at 30°¢. Jf the diameter of the wire is
0.15mm, find the resistivity of the metal at that temperatuse.

(¥ )

23 w*aﬁﬂuaﬁmmlmaﬁﬁﬁmaﬁmmmwmwﬁ\ﬁaﬁxﬁm%i
mgﬂamwmﬁﬁmﬁ@qﬁmﬁaﬁmﬁaﬁaﬁﬁmaﬁmﬁmmﬁ

F T ¥ T
g 50 m S AR H e T TR 001 mm? ¥ W wfadwsm

weafinl 16
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R 10780 m B, vy 3 ife )

Define resistance of a conductor. State the factors on which resistance of a conductor
tepends. Name the device which is often used to change the resistance without changing the
voltage source in an electric circuit.

Calculate the resistance of 50 m length of wire of cross sectional area
(.01 square mum and of resistivity 5 x 1078} m.

(z) g5 ¥ YIS AR Wehrded §T 1 Tifehd o S | 5
T % 1 9 o faf wwaed |

{a) Draw a well-labelled diagram of structural and functional unit of kidney.

{(b)  Explain the mechanism of the urine formation.

~ WT-&/SECTION - B

% o o v ¥ farerad @t A e ol v 6 78 e @ T A IR w1
s o B A7 s A e v i P e 8 e A siRB E -

(a) KOH3RKQ ) HQshKoH

()  KOH 3HQ (d)  HEIM HACOy

A student added red litmus solution to ‘A’ nd obs€rved that it changed into blue. When she

added another solution ‘B’ to ‘A’ in excess, shie obsesfed that the solution tumed red. The
solution A and B are : -

(@ KOHandKCl )  HClanddOH
{9~ KOHand HCl @  HCland HOy

TME RN @R EpHIMRETA W wmgm: 4 1
@ ®) e © e ),

The colour produced on the pH paper when we put a drop of distilled Wéter on it is

.\(\a)/.. green ()  blue (c)  yellow (d) © _std

TR B 7 T WG S g WEaH WS fea A SR e SR 39 3 e Srene
T TR TR W AR R () 7 sz 0 D (x)  aifee R Pl won -
1§ it Rayor e @

HCl+ Zn{ HCl+Na;CO3{ NaOH + Zry NaOH + NayCO;|
] v v v v

Page 7 of 16
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1l X X v v
m (v v X v
vV | v v X
(@) Wl
by @O
(¢ W2
d) WV
| Pour students performed the feactions of W acid and a solution of sodium hydroxide w
zinc metal and solid sodium earbonsté separately. They reported the possible reaction by (¥ ) and
reaction by (X). In which of the followingsets all observations are correct?
Set | HCl+Zn| HQl+NayOOy| NaOH #Zn| NaOH +NayCO,
I v v v 4
n X X v v
m. | v v X v
)17 v v X
(a set :
(b) et
(c) set 11
(d)  setIV e

28 mmmiﬁwmthﬂdwhﬂvm.mmﬁmmﬁm =

wefte & -

(a) NaSO; +BaCh — NeCh + BasSO, _ v
(b)  NaSOq +BaCh — BaSOy + NaQ _ AR
()  Na(SOs) +BeC — BaSO:n + INaC) | Q)C\

(d) NaSO, + BaCh — BeSOy + 2N .
ldenﬁfyﬁleomredmmwlﬂum sulphate and bartum chloride solution

(a) NaSO; +BaCh — NeCh + BasSO, Q-C‘L_)\

()  NaSOs +BaClz — BeSOy + NeQ
()  NaB0) +BaQ — Ba(SO:h + 2N
\(d)/ NasSO, + BaCl, —+ BaSOq+ 2ZNaCl

\\C| *

\z_asf\' wmwmuﬁtmmmtmtmmtn )
@ OErPmmamt
) W o R R g & afviem s b
o P T sfeien s
(d) ¥ fe g8 T A afufen s b
A\ white powdeti!formed with a hissing sound with evolution of heat when
al lime water is heated
ge 8ol 10
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b) lime waler reacts with quick lume

(Y wAreT reArTs wirh Hmp warer
waler reacts with quick lime

).
—

30 st 3 9 o Yo G Teerrent g T FeSO.
3 vifrard= 1 |E A0 BN |
o TRt
by T e 0@ @R
() \{{Tﬁmﬂmﬂ?ﬁw |
@) s e

Anita added a few iron filings to 5
for change in colour of solution by heris:
(a) It remains colourless
G~ It remains Pale green
(c) Brown solution tumed colourless

(d) It remains blue.

¥ smL foega o TEf | 30F g fAEEA F 011

mL of FeSO, solution in a test tube. The correct observation

afz M + BX —MX £ B ¥R B @& o™ ot v % w F fred 2@ @ MaRBXATHE:

(a) Smae iy it aedee

) s AR o aeR

() W"ﬁw'ﬂw

(d) form sin Yofrfvan weinz

IfM + BX — MX + Band Dbm-udddm-n&pm&umMndBmeﬂuvdym Qo
o G 4 ¢

A
k— (L\g&(( .—% i

(a) Iron and alumirum sulphate \

(b)  lron and zin sulphate 5, ? A
)~  alumiumum and copper sulphate

(d)  Zinc and Iron aluminimumn sulphatr

32 mmﬁimm(wmmwwwtmtmawma1
wmmumimmx,vnzmt

vy yy

@ SR, i, e o e, i, i

vage 9 of 16

Generated by CamScanner



(©  fex, v, Awesfie @ i, e, et

A student draws the following drcuit diagram for the experiment on studying the
depa\dmofmnmt(l)wpomﬁddjﬁumceMmamm.mPamlabeﬂedX,Y
nndzm&wdx:itdhgrummmpecﬂvely:

(a) Resistor, Voltmeter, Ammeter ) Voltmeter, Resistor, Ammeter
(V Aminietes, Resistor, Voltmeter (d) Resistor, Ammeter, Voltmeter

@ T, ML, Tout —

\ T,
Tl
I
@ Ti>T ® {7
(0 Ti<Ta (@  gon nfldm v
What is the relation between tempetatures T, & T;
\ T,
Ty
1
@ Ti>T ® Ti=T
© Ti<T (d)  Canmot be compared

34 s vRvE SRS i frmiR A W Sl Al W s sA S & s )
o 2 M R v TRy s o) e F Iwmifes 9,y Tz we: € -
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b x ¢
- + >
e . "

"3
i o* o
A AAAA » -

[ Y | A p v K
i X S bj/
N (o v S

\\-\ : o . "
e l‘ll*‘:—__(‘ - \/ \LN \/Qf
(a) i, dreesiter aa frefieste ‘o,\“q\ /\/{)0 $\‘
()  aveesiier, whds o frefiedter \W* v
() Preiiex, whrdees v geedtet - © \f;)s
(d) whre, firchiuiet ol Sz -

P '4 .
A student draws the following arcuit diagram for the experiment on studying the demme . )
of currents (I) on potential differefice (V) across a resistor. The parts labelled X, Y and Z is |.\a.§
diagram are respertively. ‘
z
=)t
N

AAAAA
yywyy

Y

A

Q
——I|I|l———

(a) A resistor, a voltmeter and a oulliarmuneter

(b) A voltmeter, a resistor and & mulliammeter

o A milliamumeter, a resistor and a vuoltmeter
(d) A resistor, a milliammeter and a voltmeter

3 10 AT 40 & 2 TRV ®) dok T FdfR w1, T ges R g s w o R Ty 1
wfteq sive ¥ gufa v &) oftee dm

rage 11 of 16
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(a) AeTa V & WE TGEIH TG 9 | F T IGTS |
(b)  Crfi deTa vV T RT3 TR i | '
(c) AveT V F1 TIEm TGS W UK [ 1 0gIE |

(d) 2 dvem v T 9 1w W i |
In an experiment to find the-equivalent resistance of a series combination of two res

30 and 400 in the circuit diagfam given below. The circuit will give :

e

—@—A“'—*'j
hl}llr-——{-;—

(3)  Incorrect reading for current | and cosrixt reading for voltage Y

by~ Incorrect readings for both current | andVoltage V

(c) Correct reading for current | and incorrectfesding for voltage V
(d)  Correct readings for both voltage V and curpent |

1stors ol

36 T 3 7 s SR w) ware A Wy s s gew widR A & & frg oRow aEm @
spftee gra 3A ura ardh 1 T aftrdw @ gefin wm df

(@ 1A (b) 3A © = () :

- )

Ramesh connected three equal resistances in pamllel and set up circuil to find equivalent
resistance of the combination. He measured current in the ammeter lo ve 3A. The current

flowing through each resistance would be :

—

(@ 1A (b) 3A © - (d) %
| —
AR e
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3, ol e 9 v o € —

- (@)  UEES RIS gR (b) ufrsyE SfeEt gro
(©) &R PR g (d) = AW GR (W)
Each stomatal pore is guarded by:
(@) “"Subsidiary cells (b) Epidermal cells
(«) Guard cells (d) Trichomes

@ @ v B 4w

(@) t‘ummmﬂﬁn\%h

(b) TR g i el W) g F tw sefeea 9§
© &0 gq e % ofd ¥ tw sreRes @A 4

@) T tu A gr wfwed squfies ot ¢

Choose the correct statement a

(a) Stomnata are always surroundesd By subsiliary cells

(b) Stomata are absent tn the leaves of submerged aquatn plants
(@)  Stomata are absent in the keaves of fref foating plants

(d) Thegunrdceusauabw\lm-mumﬁ'_ 4

-

39 uﬂmm!)ﬁw#vhm*mmdlw:
(a) W TEET HM
(b) T W S

() T80
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(d) T TG T S M oW T W I e § fag v &1
Ifa plantiskepthamomwithgremlight, it will

(@) Respire forever (b)  Photosynthesis
(c)y Die (d)  Live for sometime till it has food to respire
1
40 YT YOl TR TR S
(a) T G (b) e o
() witet dww @ (d) fargedrdt Qo )
Photosynthesis is a light dependent ;
\(@~" Autotrophic nutrition (b)  Saprophytic nutrition
(c) Parasitic nutrition () _ Heterotrophic nutntion

(9 m*ﬁmcozmﬂhmtnﬁtMtﬂzmwﬁwnm%ﬂmmmw:ﬁﬂﬁ'1
A 3 ¢, 7w v W W wwh $ g '

ll

KCl - FINAL LEVEL
INITIAL LEVEL

3 WATER

GERMINATING
SEEDS ~

(@) o | whk ® wgern wiw
by W s @ fb

() WEd @ w e o e
(d) WaAE § KOH ¢ =¥

A student drew megnvmdjagramformesa-updmeapmmnoshowthatco.,u;

ge 14 of 16
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released during respiration. The error in the diagram can be corrected by :

- KCl +- FINAL LEVEL
/ \ =t INITIAL LEVEL
iw) ~1 — WATER
GERMINATING
SEEDS

(a) Cork must be replaced by cotton plug
(b)  Seeds should bé dry'Seeds
(c) Beaker must contain lirhe water

(d) Test tube should have KOH

4. Sigfta Aol I vawa v & forg o i Az 9 warm A gE 2w T fE de | e e

(a)
(b)
() A ety sevifv o o §

(d) R % fag ol ¥ am sitwiom ¢
Anmpenmmwm—upmdm\m@hummgummungmssmm.nn
observed that water from the beaker has not risen into the delivery tube because :
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(@)  the set - up is air tight “)-

(b) the beaker has coloured wiles

(¢) carbon dioxide is not betng abSorbed

(d) no oxygen is available to seeds for respiration

vseeve
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